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22, If ¥ - po-q = 0, where p and g are positive integers, which of the following could not
equal x~?

Ade+3 B 8x+35 C 8x+7 D 10x + 3 E 26x + 5
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22, B Sincex’ — px — g = O.itfollowsthat ¥ = m” + gx.
Butx’ = px + gandsox’ = p(px + g) + gr.iex’ = (p* + g)x + pg.
The three possible values shown for pg are 3, 5 and 7.
Ifpg = 3.p° +g=1"+3 =4o0rp’ + g =3 +1 = 10.Hence 4x + 3 and
10x + 3 could equal x°.
If pg = 7. wemaytakep = 1,q = Ttogetp’ + ¢ = 1> + 7 = 8. Hence 8x + 7
could equal x°.
Ifpg = 5,wemaytakep = 5. g
could equal x°.
However, the only other possibility, p = 1, = Sgivesp’ + g = 6 # 8. Therefore
8v + 5 = X

ltogetp* + g = 5° + 1 = 26. Hence 26x + 3



